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Instruction : All questions carry equal marks.

1.  Explainthe

theory of diminishing marginal rate of substitution. 14
OR

State the characteristics of indifference curve.

2.  Discuss the advantages and disadvantages of returns to scale. 14
OR
Explain the law of Variable Proportion.
3. State the characteristics of perfect competition. Explain equilibrium of firm. 14
OR

What is price discrimination ? State its possibility.

4.  Discuss the effects of selling cost on the demand curve. 14
OR
Explain the model of kinked demand curve in oligopoly.
5. (a) Statethe following statements are right or wrong : 7
(1) The concept of inferior good is given by Prof. Robertson.
(2) Consumer’s equilibrium means maximum consumption.
(3) The marginal rate of substitution remains constant, then two goods are
perfectly substitute.
(4) Iso-quant represents input combination.
(5) Inshort run all inputs are changeable.
(6) Demand curve is kinked in monopoly.
(7) Product differentiation is not a characteristics of monopolistic competition.
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(b) Choose correct answer :
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1)

(2)

©)

(4)

(%)

(6)

(7)

At the point of consumer’s equilibrium the marginal rate of substitution =

(@) Consumer’s preferences
(b)  Slope of indifference curve
(c) Price of goods

The slope of indifference curve of complementary goods is
(@ Convex

(b)  Straight line

(c) Rightangle

Price line indicates consumer’s

(@ Choice
(b) Limitations
(¢) Income

The demand curve under perfect competition is
(@) Positive slope

(b)  Negative slope

(c) Parallel slope

At the firm’s equilibrium point the marginal cost must
(@ Increase

(b) Decrease

(c) Equal

Selling cost is important characteristic of market.
(@) Perfect competition

(b)  Monopoly

(c)  Monopolistic competition

Kinked demand curve concept is given by
(@) Friedman

(b) Samuelson

(c) Sweezy




